hrSystem

MIB::hrSystemUptime.0 = Timeticks: (24725802) 2
MIB::hrSystemDate.0 = STRING: 2006-3-13,9:30:39
MIB::hrSystemlnitialLoadDevice.0 = INTEGER: 153
MIB::hrSystemlnitialLoadParameters.0 = STRING:
4.24 ro root=301."

-R-MIB::hrSystemNumUsers.0 = Gauge32: 1
-R-MIB::hrSystemProcesses.0 = Gauge32: 26
-R-

H-R-
H-R-
H-R-
H-R-
2.
H
H
H

MIB::hrSystemMaxProcesses.0 = INTEGER: 0

H-R-MIB::hrMemorySize.0 = INTEGER: 255960 KBytes

hrStorage

days, 20:40:58.02

.0,+1:0

6

"auto BOOT_IMAGE-=Linux-

(Index, Type, Descr, AllocationUnits, Size, Used, AllocationFailures)

H-R-MIB::hrStoragelndex.2 = INTEGER: 2
H-R-MIB::hrStoragelndex.3 = INTEGER: 3
-R-MIB::hrStoragelndex.4 = INTEGER: 4
-R-MIB::hrStoragelndex.5 = INTEGER: 5
-R-MIB::hrStorageType.2 = OID: H-R-TYPES::hrStorag
-R-MIB::hrStorageType.3 = OID: H-R-TYPES::hrStorag
-R-MIB::hrStorageType.4 = OID: H-R-TYPES::hrStorag
-R-MIB::hrStorageType.5 = OID: H-R-TYPES::hrStorag
-R-MIB::hrStorageDescr.2 = STRING: Real Memory
-R-MIB::hrStorageDescr.3 = STRING: Swap Space
-R-MIB::hrStorageDescr.4 = STRING: /
-R-MIB::hrStorageDescr.5 = STRING: /dev/shm
-R-MIB::hrStorageAllocationUnits.2 = INTEGER: 1024
-R-MIB::hrStorageAllocationUnits.3 = INTEGER: 1024
-R-MIB::hrStorageAllocationUnits.4 = INTEGER: 4096
-R-MIB::hrStorageAllocationUnits.5 = INTEGER: 4096
-R-MIB::hrStorageSize.2 = INTEGER: 255960
-R-MIB::hrStorageSize.3 = INTEGER: 0
-R-MIB::hrStorageSize.4 = INTEGER: 1418834
-R-MIB::hrStorageSize.5 = INTEGER: 31995
-R-MIB::hrStorageUsed.2 = INTEGER: 123652
-R-MIB::hrStorageUsed.3 = INTEGER: 0
-R-MIB::hrStorageUsed.4 = INTEGER: 729361
-R-MIB::hrStorageUsed.5 = INTEGER: 0
-R-MIB::hrStorageAllocationFailures.4 = Counter32:
-R-MIB::hrStorageAllocationFailures.5 = Counter32:
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hrDevice
(Index, Type, Descr, I1D)

H-R-MIB::hrDevicelndex.768 = INTEGER: 768

H-R-MIB::hrDevicelndex.1025 = INTEGER: 1025
-R-MIB::hrDevicelndex.1026 = INTEGER: 1026
R-MIB::hrDevicelndex.1280 = INTEGER: 1280
-R-MIB::hrDevicelndex.1536 = INTEGER: 1536
R-MIB::hrDevicelndex.1538 = INTEGER: 1538

eRam
eVirtualMemory
eFixedDisk
eFixedDisk

Bytes
Bytes
Bytes
Bytes
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R
R
R
R
R
R
R
R
R
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MIB:

-MIB:
-MIB:
-MIB:
-MIB:
-MIB:
-MIB:
-MIB:
-MIB:
-R-MIB:
-R-MIB:
-R-MIB:
-R-MIB:
-R-MIB:
-R-MIB:
-R-MIB:

:hrDevicelndex.3072 = INTEGER: 3072
::hrDeviceType.768 = OID: H-R-TYPES::hrDevic
:hrDeviceType.1025 = OID: H-R-TYPES::hrDevi
:hrDeviceType.1026 = OID: H-R-TYPES::hrDevi
:hrDeviceType.1280 = OID: H-R-TYPES::hrDevi
:hrDeviceType.1536 = OID: H-R-TYPES::hrDevi
:hrDeviceType.1538 = OID: H-R-TYPES::hrDevi
:hrDeviceType.3072 = OID: H-R-TYPES::hrDevi
:hrDeviceDescr.768 = STRING: AuthenticAMD:
:hrDeviceDescr.1025 = STRING: network inter
:hrDeviceDescr.1026 = STRING: network inter
:hrDeviceDescr.1280 = STRING: Ip
:hrDeviceDescr.1536 = STRING: QUANTUM FIREB
:hrDeviceDescr.1538 = STRING: CD-540E
:hrDeviceDescr.3072 = STRING: Guessing that
ssor

:hrDevicelD.768 = OID: SNMPv2-SMI::zeroDotZ
:hrDevicelD.1025 = OID: SNMPv2-SMI::zeroDot
:hrDevicelD.1026 = OID: SNMPv2-SMI::zeroDot
:hrDevicelD.1280 = OID: SNMPv2-SMI::zeroDot
:hrDevicelD.1536 = OID: SNMPv2-SMI::zeroDot
:hrDevicelD.1538 = OID: SNMPv2-SMI::zeroDot
:hrDevicelD.3072 = OID: SNMPv2-SMI::zeroDot

hrProcessor

(hr Devi

celndex, FrwiD)

H-R-MIB

::hrProcessorFrwiD.768 = OID: SNMPv2-SMl::ze

hrNetwork

(hr Devi

celndex, Iflndex)

H-R-MIB
H-R-MIB

::hrNetworklfIndex.1025 = INTEGER: 1
::hrNetworklflndex.1026 = INTEGER: 2

hrPrinter

(hr Devi

celndex, Status)

H-R-MIB

::hrPrinterStatus.1280 = INTEGER: unknown(2)

hrDiskStorage

(hr Devicelndex, Access, M edia, Removeble, Capacity)

H-R-MIB
H-R-MIB
H-R-MIB
H-R-MIB
H-R-MIB
H-R-MIB

::hrDiskStorageAccess.1536 = INTEGER: readWr
:hrDiskStorageAccess.1538 = INTEGER: readWr
:hrDiskStorageMedia.1536 = INTEGER: unknown
:hrDiskStorageMedia.1538 = INTEGER: unknown
:hrDiskStorageRemoveble.1536 = INTEGER: fal
:hrDiskStorageRemoveble.1538 = INTEGER: tru

eProcessor

ceNetwork

ceNetwork

cePrinter

ceDiskStorage
ceDiskStorage
ceCoprocessor

AMD Duron(tm) Processor
face lo

face ethO

ALLP AS20.5
there's a floating point

ero

Zero
Zero
Zero
Zero
Zero
Zero

roDotZero

ite(1)
ite(1)
(2)
(2)
se(2)
e(1)



H-R-MIB::hrDiskStorageCapacity.1536 = INTEGER: 2006 6251 KBytes
H-R-MIB::hrDiskStorageCapacity.1538 = INTEGER: 0 KB ytes

hrPartition
(hrDevicelndex, Index, Label, 1D, Size, FSIndex)

H-R-MIB::hrPartitionindex.1536.1 = INTEGER: 1
H-R-MIB::hrPartitionLabel.1536.1 = STRING: "/dev/hd al"
H-R-MIB::hrPartitionID.1536.1 = STRING: "0x301"
H-R-MIB::hrPartitionSize.1536.1 = INTEGER: 0 KBytes
H-R-MIB::hrPartitionFSIndex.1536.1 = INTEGER: O

hrFS

(Index, M ountPoint, RemoteM ountPoint, Type, Access, Bootable, Storagel ndex,

FullBackupDate, partialBackupDate)

H-R-MIB::hrFSindex.1 = INTEGER: 1

-R-MIB::hrFSindex.2 = INTEGER: 2

-MIB::hrFSMountPoint.1 = STRING: "/*

-MIB::hrFSMountPoint.2 = STRING: "/dev/shm"
-MIB::hrFSRemoteMountPoint.1 = ™"

-MIB::hrFSRemoteMountPoint.2 ="

-MIB::hrFSType.1 = OID: H-R-TYPES::hrFSOther

-MIB::hrFSType.2 = OID: H-R-TYPES::hrFSOther

-MIB::hrFSAccess.1 = INTEGER: readWrite(1)

-MIB::hrFSAccess.2 = INTEGER: readWrite(1)

-MIB::hrFSBootable.1 = INTEGER: true(1)

-MIB::hrFSBootable.2 = INTEGER: false(2)

-MIB::hrFSStoragelndex.1 = INTEGER: 1

-MIB::hrFSStoragelndex.2 = INTEGER: 2
-MIB::hrFSLastFullBackupDate.1 = STRING: 0-1-1,0 :0:0.0
-MIB::hrFSLastFullBackupDate.2 = STRING: 0-1-1,0 :0:0.0
-MIB::hrFSLastPartialBackupDate.1 = STRING: 0-1- 1,0:0:0.0
-MIB::hrFSLastPartialBackupDate.2 = STRING: 0-1- 1,0:0:0.0

hrSWRun
(Index, Name, 1D, Path, Parameters, Type, Status, PerfCPU, PerfMem )

H-R-MIB::hrSWRunindex.1 = INTEGER: 1
H-R-MIB::hrSWRunName.1 = STRING: "init"
H-R-MIB::hrSWRunID.1 = OID: SNMPv2-SMI::zeroDotZero
R-MIB::hrSWRunPath.1 = STRING: "init [2]"
R-MIB::hrSWRunParameters.1 ="
R-MIB::hrSWRunType.1l = INTEGER: application(4)
R-MIB::hrSWRunStatus.1 = INTEGER: runnable(2)
R-MIB::hrSWRunPerfCPU.1 = INTEGER: 1710

R_

H-
H-
H-
H-
H-
H-R-MIB::hrSWRunPerfMem.1 = INTEGER: 508 KBytes



